

ROTTO-SOTTO/2022/14 January 2**%**, 2022

To,
Dr. Sangeeta Ravat,
Dean,
Seth G.S. Medical college & K.E.M. Hospital,
Acharya Donde Marg, Parel,
Mumbai-400012

Subject: Permission for inviting quotations for renovation of -20 freezer storage area and patient waiting area on KEM website

Respected Madam,

As you are aware, ROTTO-SOTTO, Mumbai is renovating the storage area of -20 freezer.

This is to request you to give the permission to invite quotations for the same on KEM Hospital website.

Thanking you,

Yours sincerely,

Matu adhar

Dr. Sujata Patwardhan, Director In-charge,

ROTTO - SOTTO West & Maharashtra

Director ROTTO SOTTO KEM HOSPITAL Sularol-

Invitation for quotations for renovation -20 freezer storage Area and patient waiting area from

ROTTO-SOTTO, Mumbai

Specifications for the renovation work-

Subject: Renovation of -20 Degree Freezer Storage Area & Patient waiting Area in KEM Hospital Parel

Sr. no	Description	No	L	В	D	Qty	Total Qty	Unit
1	Cutting Down Brick Masonery							
76.12 - S		1	3.05	0.20	1.60	0.98		
		1	1.52	0.20	1.60	0.49		
	Door	1	2.00	0.25	2.10	1.05		
	Less Existing Door	-1	1.50	0.25	2.10	-0.79		
						1.72	2.00	Cum.
2	Nominal Mix of 1:3:6 (1 Cement OPC: 3 coarse sand: 6graded stone aggregate 20 mm nominal size).							
	Ramp	1	4.50	2.00	0.10	0.90		
		1	17.28	0.90	0.10	1.56		
						2.46	2.50	Cum.
3	Construction of Brick work etc						The state of the s	
	For Ramp	0.50	4.50	2.00	0.60	2.70		
	Screen Wall	1	7.00	0.23	2.10	3.38		
	Seating Wall	12	0.60	0.50	0.10	0.36		
	Bio waste room Side Wall	1	7.00	0.23	2.10	3.38		
				4,1		9.82	10.00	Cum.
4	Providing and fixing polished natural Kadappa stone etc							
	Seating Arrengement	1	7.00	0.60		4.20		
						4.20	4.50	Sqm
5	P/F Non Skid tiles in Flooring							
	Ramp	1	4.50	2.00		9.00		
						9.00	9.00	Sqm.

6	Providing and applying 20 mm thick external sand faced cement plaster etc				lp.			
	Bio waste room Side Wall	2	7.00	2.10		29.40		
	toilet Side Wall	1	7.00	2.10		14.70		
						44.10	45.00	Sqm
7	Removing Of Old Plaster Etc							
	Tree Guard	1	17.28	1.00		17.28		
						17.28	18.00	Sqm
8	Providing and Fixing Ceramic Tiles in Dado Etc							
	Screen Wall	1	7.00	2.10		14.70		
	Tree Guard	1	17.28	1.00		17.28		
		1	17.28	1.10		19.01		
						50.99	51.00	Sqm
9	Providing and fixing 50mm Dia Stainless Steel railing Etc							
		2	4.50			9.00		
						9.00	9.00	Rmt

	Summa	ry				
Subject:-Renovation of -20 Degree Freezer storage Area & Patient waiting Area in KEM Hospital Parel						
Sr.No.	Description	Qty.	Unit	Rate	Amount	
1	Cutting Down Brick Masonery	2.00	Cum.			
2	Nominal Mix of 1:3:6 (1 Cement OPC: 3 coarse sand : 6graded stone aggregate 20 mm nominal size).	2.50	Cum.			
3	Construction of Brick work etc	10.00	Cum.			
4	Providing and fixing polished natural Kadappa stone etc	4.50	Sqm			
5	P/F Non Skid tiles in Flooring	9.00	Sqm.			

6	Providing and applying 20 mm thick external sand faced cement plaster etc	45.00	Sqm	
7	Removing Of Old Plaster Etc	18.00	Sqm	
8	Providing and Fixing Ceramic Tiles in Dado Etc	51.00	Sqm	
9	Providing and fixing 50mm Dia Stainless Steel railing Etc	9.00	Rmt	
_			Total	
			Add 9% CGST	
			Add 9% SGST	
			Total	
			Say amount	

The last date to submit the quotation is Monday, 8th February, 2022.

Quotations needs to be submitted in sealed envelope. The quotations shall consist of 2 parts, namely Folder-A and Folder-B, in separate sealed cover. Folder-A of the quotation shall cover administrative and technical aspects and Folder-B the commercial aspects of the bid. Sealed covers of Folder-A and Folder-B offers shall be submitted in one sealed cover with name of Tender of Website for ROTTO-SOTTO, Mumbai.

The quotations should be addressed to:

The Director,

ROTTO-SOTTO

7th Floor, New Multi Storied Building,

K.E.M. Hospital, Parel, Mumbai-400012.

